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Basic Problem 2 for HMM (P.20 of 4.0)
•Approach 2 (Viterbi Algorithm - finding the single best sequence q*= q1*q2*…qT*
· Define a new variable (t(i)

(t(i)
= max P[q1,q2,…qt-1, qt = i, o1,o2,…,ot |(]

= the highest probability along a certain single path ending at state i at time t for the first t observations, given (
· Induction

(t+1( j) = max [(t(i)aij] ( bj(ot+1)
· Backtracking

(t( j) = arg max [(t-1(i)aij]

the best previous state at t(1 given at state j at time t

keeping track of the best previous state for each j and t
q1,q2,…q t-1
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